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ANTHROPOLOGY
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two
(2) marks. Attempt all the questions.

1. The concept of “Inborn Errors of Metabolism” was developed by
(A)  Eugene Fischer (B) J.B.S. Haldane
(C)  Francis Galton (D)  Archibald Garrod
2. Which of the following is the example of sex-linked disease ?
(A)  Phenylketonuria (B) Diabetes mellitus
(C) Haemophilia (D) Thalassemia

3. The Twin-Study method was first developed by

(A) Morton (B) Galton
(C) Hooton (D) Garrod
4. An organism which feeds mostly on fruits is called
(A)  Omnivorous (B) Carnivorous
(C)  Frugivorous (D) Herbivorous

S. Maternal-foetal incompatibility in the Rh blood group system is present with
(A) Rh-ve man and Rh +ve woman
(B)  Rh +ve man and Rh +ve woman
(C) Rh +ve man and Rh —ve woman

(D) Rh-ve man and Rh —ve woman

6. PCR (Polymerase Chain Reaction) technique was invented by

(A) T.H. Morgan (B) Kary Mullis
(C) Paul Berg (D) Alec Jefferey
7. The classical example of ‘a balanced polymorphism’ maintained by heterozygous
advantage is
(A)  Sickle cell trait (B) Haemophilia
(C)  Thalassemia (D) Thrombocytopenia
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(C) i (D) gi=TETEEIaT
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8. Which of the following did not accompany the transition from horticulture to
agriculture ?

(A)  Women lost their role as primary cultivators

(B)  Women began to assert themselves in extra-domestic contexts
(C)  The average number of children per family increased

(D) Women became increasingly restricted to the domestic sphere

9. Clifford Geertz characterizes culture as
(A)  process of enculturation
(B) abiological necessity
(C)  set of control mechanisms to govern behaviour
(D) biological adaptive

10.  Which one of the following pairs is not correctly matched ?
(A)  Cross-cultural comparison : G.P. Murdock
(B)  Participant observation : Bronislaw Malinowski
(C)  Sacred complex : Emile Durkheim
(D)  Sanskritization : M.N. Srinivas

11.  Which one of the following is an example of achieved status ?
(A)  Father (B) Sibling
(C)  Daughter (D) Son

12. The Mandel Commission was constituted under which Article of the Indian
Constitution ?

(A)  Article 340 (B) Article 275
(C) Article 164 (D) Article 330

13.  Which of the following is/are example(s) of participant observation ?
(A) Dancing in a festival
(B)  Singing during a ritual
(C)  Competing in the games popular in the community
(D)  All the above

14. Which one of the following statements is not correct ?
(A)  Culture is a learned behaviour.
(B)  Culture is the man-made part of the environment.
(C)  Some cultures are superior to other cultures.
(D)  Cultural variations are important for understanding human societies.
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10. fr=feiad 3t & @ i | gaferd 7@ & ?
(A)  SHI-THoalel SHUNST : .91 Heih
(B)  TUEIAU=E SATesTae : St HicTeh!
(C)  Ushe oI : THIZS gy

(D) TSR : TH.UA. Sifard
11. Fefofad § 9 S 91 Red e i 1 8RS ?

A)  TyerEEr (B) T a7 & 8T
(C) e (D) A

12. RA % W9 & [ 38 & 3T AUSH 3TN o1 TTa+ Tehall 7 &7 ?
(A) 3T 340 (B) 3T 275
(C) 3F=% 164 (D) 3T 330

13. FAfciEa 9§ & SF 91/ ¥ 90 o ol o gRT 316 &l / & 33T g / € ?
(A)  Tordl 30T § I AT |
(B) Todll ST o 99 TR AT |
(C) TREH H AR Wet H Uil e |
(D) U @A |

14. To=Afctfiae & @ s o1 oeres T T8l 8 ?
(A)  TEHid U UGl 83T R ¢ |
(B) AP, FAERYT H1 U A fewn ¢ |
(C) T GEHIAET 1= Y&piaal ¥ S &l € |
(D) IS QST ol GHEH & ToTT Fihdeh Al Tewequl & & |
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15.  Which of the following is your parallel cousin ?
(A)  Your mother’s brother’s daughter
(B)  Your mother’s sister’s son
(C)  Your father’s sister’s daughter

(D)  Your mother’s brother’s son

16.  Which one of the following emerged during post Neolithic period ?
(A)  Microlithic Tools (B) Megalithic Monuments
(C)  Wheel Made Pottery (D) Polished Chisel

17.  Which one among the following is associated with Fauresmith culture ?
(A)  Central and Western Europe (B) South and South East Asia
(C)  Australia and Oceania (D) South and East Africa

18.  What among the following is also called controlled percussion technique ?
(A)  Block-on-block technique (B)  Stone hammer technique
(C)  Cylinder hammer technique (D) Grinding and polishing technique

19.  Which one of the following indicates the end of Pliocene and beginning of
Pleistocene ?

(A)  Mississippian Fauna (B) Sub-Himalayan Fauna

(C) Villafranchian Fauna (D) Scandanevian Fauna

20.  Which one of the following is a Mesolithic site of India ?
(A)  Sangankallu (B) Vadamadurai
(C)  Sarainahar Rai (D) Navadatoli

21. Assertion (A) : Genetic drift is also called Sewali Wright Effect.

Reason (R) : Sewall Wright effect is named after the American geneticist who
realized its evolutionary significance.

On the basis of the above, choose the correct answer.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B)  Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A)is true but (R) is false

(D)  (A) is false but (R) is true.
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18.

19.

20.

21.

ffefad 5 9 S 3TIehT “Retel For € 2
(A)  3TUh! OTAT 3 TS hY oA
(B)  3TYhI HICT i e I T
(C) 3Tk U ol &1 st T
(D)  3TI9eh! HICT & TS 1 I

IT-AAUTHTOT T &t 3T § Fefeinae | § foheeht amfawia gam ?

(A)  TTSHITCATIER (GETUTSTOT) ST (B) AR (HETATSTOT) TR
(C) TFh W et & s (D)  diferer feram gt T
feAfefiad & & F T BRI TEpid  rafad & ?

(A) =T a9 ufTaH (B)  ST&T0T 7o 3FRA0T U Wi
(C)  3ireSToran aom 3Teitan (D)  3feToT e U STRIehT
Trfetiiaa & 9 ford T G dereiies ot et STaT & 2

(A)  SATR-3iT-seATeh dehiieh (B) I TR ThHIh

(C) fafetoet & dois (D)  UTERET e UifeAtInT qeheieh
fereAferiaa & @ S 3tfamae 3 & 37 T STedd Ta I % TR i AT w1 R ?
(A)  Fereifafier e (B) -femera wigane
(C)  Toohfaas Siqage (D) ThHUSHTIE SIqHR

TTeTRae T § i HRd o HEIUTSI0T ShieT oh Ueh T & ?

(A) W] (B) TRMEYS
(C) TETITE (D) ToERE

AfBeT (A) : ST fgde ot Yarel Tee Shae ot el ST |

HROT(R)  : Vel Te Thae A9 SN Ta v o= o A1 o2 Ta@r g, e
STk SE[AHIY ! Tel i TearT |

SURTARET SR Td FHROT & TR TR el 3R A -

(A)  (A) 3R (R) I T&E T (R), (A) T Tel ARSATE |

(B) (A) 3R (R) 341 el €, =] (R), (A) Tl Tl AT & |
(©)  (A)WE R R) TAE |

(D) (A) T e, W (R) Wl & |
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22.  Assertion (A) : Sickle cell trait is very common in some African populations.

Reason (R) : Itis transmitted through Anopheles gambiae mosquito.

On the basis of the above, choose the correct answer.
(A)  (A)is true (R) is false.

(B)  (R)is true (A) is false.

(C) Both (A) and (R) are true.

(D) Both (A) and (R) are false.

23.  Assertion (A) : Goitre is prevalent among Himalayan population.
Reason (R) : People suffer from Goitre due to Iodine deficiency.
On the basis of the above, choose the correct answer.
(A) Both (A) and (R) are false.
(B)  (A)is true (R) is false.
(C) (A)is false (R) is true.
(D) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

24. Given below are two statements. One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : Many traditional characteristics of the tribe are no longer valid in
contemporary India.

Reason (R) : Tribal communities in India have undergone profound changes in
recent time.

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(C)  (A) is true but (R) is false.

(D)  (A) is false but (R) is true.

25. Given below are two statements, one is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : Material culture of a society changes at a faster pace than the
non-material culture.

Reason (R) : It takes time for people to accept new values, ideas, knowledge and
ideology.

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B)  Both (A) and (R) are true and (R) is not the correct explanation of (A).
(C) (A) is true but (R) is false.

(D)  (A) is false but (R) is true.
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22,

23.

24.

25.

ANTHAT (A) :  STRIHT (T F T | IT-RITITHT TETUT ST THT & |
HROT(R)  :  TE It Tl Hesdi o Areas ¥ SR 8T § |
TG o 3TUR T Fel SR A

(A)  (A)TEE (R)TAAE |

(B) (R)WEE, (A) T e |

(C)  (A) @ (R) I T |

(D) (A) @ (R) I TATE |

Afme (A) : Termer &5 | T arel o7 e sl SR 9 U 3Tieh aiEd e @ |
FHROT(R)  : TS i S o SHIROT AT BT i Ry & UTEd 8l & |

TG o 3TUR T Fel SR A

(A) (AT (R) I Tord € |

(B) (A)WEE, (R) T E |

(C) (A) TS, (R) TEIE |

(D)  (A) T (R) AT T E, W (R), (A) T T&l AT &I ¢ |

T 31 et AT | U8t Rl AT (A) el T & 4T 58 1 SHROT (R) Fel TE |
AMHAT (A) : THAMGS TRA H SIS o TR S0 31d 7 81 ® T E |
HROT (R) : T IHT H R § ST GEE § e w9 H UReaaT S |

% :

(A)  (A) 3R (R) IHT Tel € T (R), (A) Tl T& AE |

(B) (A) 3R (R) SHT Tel & T (R), (A) i Tel AT TR € |

(C)  (A)WEE, W< (R) T € |

(D) (A) T e, W (R) Wl & |

e T ook f$3 T € : Ut b TR (A) el T € T TER i RoT (R) el T E |

ANTHAT (A) : ThdT TAIST i Hifceh YR SR TR GEHIT hi STUETT 3T Arerar o

gRaEfad i & |

%R (R) : T o, foaemr, 9 qe foeReRT i WiehR A § AN hl THT ST

Tl
H:
(A)  (A) 3R (R) 3T T&l & T (R), (A) i T& ATE |
(B)  (A) 3R (R) SHT &l & 7T (R), (A) ! Tel AT I € |
(C) (A) WEg, W< (R) Toq & |
(D) (A) T E, W] (R) Tl € |
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26. Given below are two statements, one is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : Social stratification in one or the other form is found in every society.

Reason (R) : Social differentiation and ranking are important components of
social stratification.

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B)  Both (A) and (R) are true and (R) is not the correct explanation of (A).
(C) (A)istrue and (R) is false

(D)  (A) is false and (R) is true.

27. Assertion (A) : Neolithic culture could not emerge outside the nuclear area.

Reason (R) : Nuclear area is characterised by the presence of a variety of wild
plants and animals both possible and ready for domestication.

In the context of the above two statements, which one of the following is correct ?
(A)  (A)is correct and (R) is wrong.

(B)  Both (A) and (R) are correct.

(C) Both (A) and (R) are wrong.

(D)  (A)is wrong and (R) is correct.

28.  Assertion (A) : Grinding and Polishing techniques were employed in Neolithic culture
for manufacturing celts.

Reason (R) : Sharp and wide cutting edged tools were necessary for reclaimation
of arable land.

In the context of the above two statements, which one of the following is correct ?
(A)  (A)is correct and (R) is wrong.

(B)  Both (A) and (R) are wrong.

(C) Both (A) and (R) are correct.

(D)  (A) is wrong and (R) is correct.

29.  Arrange the order of steps in Genetic counselling :

(A) Communication and Discussion — Diagnosis — Contact & Support —
Examination and Investigation

(B) Examination and Investigation — Diagnosis — Contact & Support —
Communication and Discussion

(C) Diagnosis — Examination and Investigation — Communication and Discussion
— Contact and Support

(D) Contact and Support — Communication and Discussion — Diagnosis —
Examination and Investigation
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26.

27.

28.

29.

e 31 ook {58 TR § 1 Uget i TR (A) ST TTET & T & ol o (R) el T |
AfuwaT (A) ;TS TS H &R fomarg TRt 7 ot & H qrEn S €

HRUT (R) s QTHTTSTeR TorSISIeRoT qoT SIUTieRToT HTHTTeh TRIehT o Hewalqol 37ead & |
% :

(A)  (A) 3R (R) IHT T&l & T (R), (A) i T& ATE |

(B)  (A) 3R (R) IHI Tl & @ (R), (A) i Tel SARAT TRl € |

(C) (A)WEE, R (R) T T |

(D) (A) T E, W] (R) Tl € |

ANTHAT (A) : TIUNIURI TR 5ol &8 J IR S el &l T |

FROT (R) : g S STl IIEHl T STHeRT ol SURTT | URelerd el € a°r e
T ST ECTSRYOT ST T UTeA ST |oTet o |

SUFER ST SToRTaA o SHR W St foh et ST e ?
(A)  (A)FEET(R) TOAE |

(B)  (A) @ (R) i WEl & |

(C)  (A)T(R) IAITATE |

(D)  (A) Tord & T (R) Wl & |

ARTHAT (A) : TIUTSIURIT i TR | Hoe i fafHTHa e & foru fomms qer diferst s —
T ST cTeheehT ST ST TohaT 71T |

HROT (R) : P g o YHSTUR o ToTT ST &R ATt T =ieT hie aret STTRT 1 g
ST T |

UGS ST ST o W] B Fteiad 8 9 i 91 T € ?
(A)  (A) TN (R) TAAE |

(B) (A) @ (R) I T € |

(C) (A) @ (R) I T |

(D) (A) T E T (R) T E |

STATeR TRTHE § WiAted =0T T SHas €9 i A1 E ?

(A)  ToaRI 7 SMEH-USH e Uil — & — T a2 THe — TRIT0T a97 Sire |
(B)  TRIETOT AT S — &1 — ek e qH — [aRi ol 3TE M-S e uR=ET |
(C) TR — TRIeToT e ST — foaRi T STEH-USH e TR — e ol 9 |
(D)  Hh T U — TR T STEH-UST A urerdl — 8T — URIToT a1 Sire |
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30.  Identify the correct sequence in descending order :

(A)  Species — Subspecies — Populations — Individuals
(B)  Subspecies — Species — Populations — Individuals
(C) Individuals - Subspecies — Species — Populations
(D) Populations - Individuals — Subspecies — Species

31.  Identify the correct sequence :

(A) Diakinesis — Metaphase I — Anaphase ] — Telophase |
(B) Metaphase I — Diakinesis — Anaphasel — Telophase I
(C) Diakinesis — Telophase I — Metaphase I — Anaphase |
(D) AnaphaseI - Telophase I — Diakinesis — Metaphase I

32.  Identify the correct sequence in descending order :

(A) State — Chiefdom — Tribe — Band
(B) Tribe — State - Chiefdom — Band
(C) State — Tribe - Band — Chiefdom
(D) State — Band - Tribe — Chiefdom

33.  Identify the correct sequence in ascending order :

(A) Lineage — Phratry — Clan - Tribe
(B)  Tribe — Phratry — Clan - Lineage
(C)  Tribe — Clan - Phratry — Lineage
(D) Lineage — Clan  — Phratry — Tribe

34.  Arrange the following theories in order they appeared :

(A) Diffusionism - Evolutionism - Structuralism - Functionalism
(B)  Evolutionism - Diffusionism — Functionalism — Structuralism
(C) Evolutionism - Functionalism — Diffusionism — Structuralism
(D) Diffusionism - Functionalism — Evolutionism — Structuralism

35.  Arrange the following post Pleistocene environmental episodes in order in which they
occurred. Use the code given below :

L Boreal

II. Atlantic

III.  Sub-boreal

IV.  Pre-boreal
Code :

A 1 Inm 1 1v
B) IV 1 I I
© ur 1v 1 II
(D) 1II I IV 1
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30.

31.

32.

33.

34.

35.

STERIET 5FH H Wl 3TIphH o TEe o :
(A) UG — IR - ERT - oAt
(B) SWEId — WG - ERr - oAt

(C) & — 3Iwea — Ued - SYEeT
(D) oW - ST - SUWSId - Ueld
Tl 3T TACTTSU :

(A) Teameamad — "] — TATHST I — AT I
(B) Wil - feafrita@ — wATST I — AT I
(C) femrfe®m — STl — HhoT1 — TS|

(D) TSI - el — TeAmeArEd - "Il I

STERIET 5 H Wl 3TIphH ol TEe o :

(A) T - GRR - offardt — el

(B)  3Ticamdl — T — WRER - el

(C) T - offgardt — el — &I

(D) " - e — offgarEt — WERT

STRIET 35H T WEl 3T5HH hi JadT o :

(A) oEmEet - W — oY - eearr

(B) omfgarat — e - G —  oumeem

(C) omfgardt — &9 - hdt - SEmEem

(D) oFMEel - S® — e - eeardr

TeAfeTiae fagT=ii 1 S5 33T & A H SHaTed T :

(A) fomoEr - foEreER — GRS —  YehEIcHSATS
(B) fowrmeR - fowoER —  UREAHFIR -  GEHCHRATETS
(C) foweaR - UsEHEAR - (OEER —  OEATHRATETR
(D) fomuER - ysEEHEIR - OER —  OEATHRATETR
TrTATEd SR-3Tedd T TATeRON HeAT3i i 3 Hied &+ & Y § SFaed Hivie | i
3T TT e T I AT

L TRFA

II.  3wecie®

. 3-SRt

V. SRge-gd

% :

A 1 1 I IV
@) IV 1 1 I
© M IV 1 1
M M 1 IV II
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36.  Arrange the following prehistoric cultures in order of their emergence. Use the code
given below :

L Gravettian

IL Solutrean

III.  Aurignacian
IV.  Magdalenian
Code :

A 1 nm mar 1Iv
(B) III 1II I 1Iv
© I1Iv 11 1 I
) 1 1Iv 11 1III

37.  Arrange the following pluvial episodes in order in which they occurred. Use the code
given below :

L Kamasian

II. Gamblian

III.  Kageran

IV.  Kanjeran
Code :

A) III 1v 1I I
B I 1 I1Iv 1II
<O 1 nm muar 1Iv
D) Iv 11 11 I

38.  Match an item in List — [ with an item in List — II. Use code given below :

List -1 List — 11
(a)  Foetus into man (i) Darwin
(b)  Principles of Human Genetics (i)  J.M. Tanner
(c)  The Descent of Man (ii1)) C.S. Coon
(d)  Living Races (iv) Curt Stern

Code :

@ b © @@
A (» @Gy (@) (@1v)
B) () Gv) @ (i)
© i) Gy @ (@Ov)
D) Gv) i) @G @)
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36. TR ATdeTae SHTar Sl 37k TIgHTT % 3hH H efeerd ity | e fed T3 e 1

TENT ShifSTT :

I TafeaT

I Eicgiga
. At
IV. s
Fe

A 1 T I IV
@ M 1o 1 IV
(C© IV T 1 I
M 1 IV 1 I

37.  FreAtoiad wifeuet UG ol Sk i giF o e H sAaRd ity | e i T e ot ST

FHiteTT :

I FHTTIA
. e
M. &RA
IV. oA
He

(A) I IV I 1
@ M 1 IV 1
© 1 W 1 IV
M) IV T I I

38. eI H S TS HT T A G-I 9 &1 778 71 o T Y | A 15T 7T e 1 ST

T -1 e - 11
(a)  EeH T (i) =
(b)  TfgueH i g SHTeRd (i) S.UH. TR
(c) T5ict=aimaq (i) .Tq. F
(d) Tafem @@=t (iv) HETA

B :

(@ () () (@
A @ Gy 3G Gv)
B) G aGv) (@) (i)
©) i) aG) (@) Gv)
(D) @Gv) (i) (1) @)
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39.  Match an item in List — [ with an item in List — II. Use code given below :

List -1 List - II
(a)  X-chromosome inactivation (i) Langdon Down
(b)  Southern Blotting Technique (i)  Sutton & Boveri
(©) Trisomy-21 (ii1)) Edwin Southern

(d)  Chromosome theory of Inheritance  (iv) Mary Lyon
Code :
(@ (b () ()
A) @) @G @ >Gv)
B) @Gv) @) (@ 3G
© Gv) @ (@G (i)
D) @ @) 3§D >[v)

40.  Match an item in List — [ with an item in List — II. Use code given below :

List - 1 List — 11
(@)  Turner’s syndrome (1) 47, XXY)
(b)  Down’s syndrome (i) Trisomy — 18
(©) Klinefelter’s syndrome (ii1) (45, X)
(d)  Edward’s syndrome (iv) Trisomy — 21

Code :

(@ b (© (@
(A (H @) @) (@Gv)
(B) (i) @) @Gv) (@)
(©) i) @Gv) (@ (@
(D) (» (@Gv) () (i)

41.  Match an item in List — [ with an item in List — II. Use code given below :

List - 1 List - 11

(a) Barter (i)  Direct exchange of commodities

(b) Gift (i)  An inter-tribal ceremonial exchange operative
in Trobriand Islanders

(c) Kula (i11)) Exchange of things and objects as an essential
element

(d)  Potlach (iv) Ritualized exchange by invoking an overt
competition

Code :

(@ () () (@
A ® (@) () Gv)
B) ® Gv) (@) (i)
(©) i) (@Gv) @) @)
D) Gy (@) @) Gv)
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39. eI H S TS HRT T A G-I 9 &1 TS 71 o W Y | A 15T T He ST

e - I et - 11
(a)  X-hHrEY sTufeawH (i) ©TeF R
(b) TS AT THH (i) 92T UUE e
(c) TEam —21 (il) TS Ta
(d) FHHEy R A TR (iv) T m

% :
@ ) (© @
(A) () @) @@ (@)
(B) Gv) (i) @) (1)
© Gv) (@) (@) (1)
D) @ ) > (@1v)
40. eI 5 < TS TET R AR -1 5 |1 TS 71 o W Y | A ST T e ST

et - I e - 11
(a) T4 Tagm (i) (47, XXY)
(b) T TagH (i) ZrEEEr — 18
(c) forrIthoey fagw (i) (45, X)
() UeoeH fagH (iv) ZrEgE - 21

B :

(@ ) ( (@
A @ Gy 3G (Gv)
(B) (i) () @Gv) @)
(©) i) Gv) (@ (D)
D) ® Gv) (1) (i)

41. -1 5 S TS TET 6T A -1 5 &1 TS 71 o W Y | A 1S T e S ST

et - I e - 11

(SrarEom) (=r2t)
(a) R (Fg-fafma) () U= Ut ST veeT fa e
(b) e (SER) (i)  Zifsde 5 & et § Geferd s fafma
(c)  Few (iii)  IFaTS o & T G Sgel 3R usre o fataea
(d) e (iv) el el o §RT ST A

B :

(@ () () (@
A ® (@) () Gv)
B) ® Gv) (@) (i)
(©) i) (@Gv) @) @)
D) Gy (@) @) Gv)
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42.  Match an item in List — [ with an item in List — II. Use code given below :

List - 1 List — II
Concept Meaning

(a) Couvade (1) A bilateral set of close relatives

(b) Kindred (i)  Man acts as though he had just gone through
child birth

(c) Potlatch (i11)) A means of determining guilt or innocence of a
person through painful test.

(d)  Ordeal (iv)  Institution of ceremonial feasting.

Code :

(@ ) () (@
A Gy @ @>v) (i)
B) @Gv) @ (D) (i)
© Gy Gv) (@) (i)
D) ® Gy 3G (Gv)

43.  Match an item in List — [ with an item in List — II. Use code given below :

List - I List — II
(a) M.N. Srinivas (i)  The Sacred Complex in Hindu Gaya
(b)  Irawati Karve (i)  The Muria and their Ghotul
(c)  Verrier Elwin (ii1)) The Remembered Village
(d)  L.P. Vidyarthi (1v)  Kinship Organization in India

Code :

@ () (© (@
(A) (i) @Gv) @ (D)
B) Gv) (@) (i) (i)
© i) @ @Gv) (D)
(D) i) Gv) () @

44.  Which one of the following pairs is not correctly matched ?

(A) Neolithic site of Northern India —  Burzahom
(B)  Site of Microlithic tradition —  Sohan Valley
(C)  Cave and rock-shelter painting site —  Bhimbetka
(D)  Mesolithic site of Western India — Lagh Naj
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42. -1 5 S TS TET R AR -1 5 &1 TS 71 o W Y | A ST T e H ST

et - I e - 11
(FFgrROM) ()
(a) FAR ()  Tepe Geifat o fgueia 92 |
(b) frge (i)  3TEH! 29 TR o1 SATHT il & S SH s Ugy
e |
(c)  dieew (ii) ﬁ%mﬁamwmﬁﬁw%w&
|
(d) 3fiteaet (iv) 3T HIST 1 TR |

(@ ) ( (@
A Gy @ @>v) (i)
B) Gv) @ (D) (i)
© Gy Gv) (@ (i)
D) ® Gy (3G (Gv)

43. -1 5= T TET R AR -1 5 |1 7S 71 o W Y | A 15T T e S ST

et - I et — 11
(a) UHIH. Hiemd () < Tohe P o &g |
(b) e %A (i) % Afn wos S g |
(c) IR ufeam (it) Tg Row=E foost |
(d)  TeA. fommeR (iv) TorAmem sivmester 3 e |

B :

(@ ) ( (@
A) i) Gv) (@ (i)
B) @Gv) @) (i) ()
(©) i) @ @Gv) (i)
(D) (i) (@Gv) (1) @)

44.  Trfelad & @ wF o1 38 gafed 7@ & ?

(A)  STRI TR T TTUTEIORA et — oI
(B)  g&H UTSIOT ORI hl T — WAt
(C) T UG SIcA-3TTS1T i oh Tret —  ofmeTH
(D)  Uf¥EHt YR ST HEAUTSIORI T2t SIS
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45.  This consists of two lists of books and authors respectively and the candidate has to
match an item in one list with an item in the other.

List - 1 List — II
(Name of the book) (Name of the authors)
I.  World Prehistory : an outline 1. K.P. Oakley

II. Adams Ancestor : the evolution of 2. V.G. Childe
man and his culture

III. Man the tool maker 3. Grahame Clark
IV. Man makes himself 4. L.S.B. Leakey
Code :
I I 1 1Iv
(A) 4 3 2 1
B) 3 1 2 4
<) 3 4 1 2
D) 4 1 3 2

Read the following text and choose/pick the correct answer in each of the following questions
(46 — 50) :

In some societies, the bride’s family rather than the groom’s family gives goods of
value. These gifts are given to the newly married couple and/or to the husband’s kin prior to
or upon the marriage. This type of exchange is called dowry. Dowries are prevalent in some
patriarchal cultures that stress the prestige of men and their families. In theory, dowries are a
kind of insurance that protects the interests of a wife in a patrilineal and patriarchal society.
In practice, however, dowry wealth is often appropriated by the husband and his family.
Dowry was the traditional marital exchange in India. A woman’s family had to present
wealth in jewelry, fine cloth and money to the husband’s family before the marriage took
place. The amount of wealth given was an indication of both the bride’s status and the esteem
of the husband’s kin. Wealthy parents gave a lot of property, but even poor families tried to
collect as many valuables as they could so as not to shame their daughter and themselves.

The economic burden of dowry contributed to a preference for sons over daughters
because girls were a financial liability whereas boys brought in dowry wealth when they
married. Thus, the custom of dowry contributed to female infanticide and the neglect of the
health of daughters in India and Bangladesh. However, dowry was not the only factor
involved in preferences for sons and the consequences of such preferences. Rather, a
constellation of behaviours and attitudes place value on men and undermine the worth of
women : kinship based on patrilineal descent and inheritance, subsistence strategies
emphasizing intensive agriculture done primarily by men, and male control over land.

Although outlawed by the Dowry Prohibition Act (1961, amended in 1984 and 1986),
a husband’s family often still demands specific amounts of cash or goods to contract a
marriage Young men of high status, good education, and favourable employment prospects
command large sums. Dowry demands are often made after a marriage is contracted and even
after a wedding.
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45. O QAR SR Ol b & it St TS E | ge-1 B < T Bet ot G-l § < T /el % 9@

A o
Tt - 1 Tt - 10
(T=® =T A™) (I T W)
[ dos Uewd : U ST=eele 1. . 3ot
I STER TR : S saioqe offs 99 2. &S, =mees
U &St FHoeR
. ¥ S o1 A 3. UeH FAH
V. O 99 fErde® 4. TATEE. R
% :
I I I Iv
Aa 4 3 2 1
@) 3 1 2 4
@© 3 4 1 2
™ 4 1 3 2

i T2 T UTS Rl U T Hedieh YR H W el ST BT g B (V9T T 46 — 50) :

P THST H, To o URER % ST Foary o1 TRER SgHed S 3aT & | T8 ST -a-Toated
T 3R / 31 ufd o RedsRi &l fode & 98 a1 SR 53 S § | 39 VbR T oe 38T el € |
T&ST I Y T Tk TUErTcAe Gehiaal, ST gsi 3R 3% URERT sl ufds ) SR 3d €, § waferd
& | Ta5T=a:, 38T Ueh UehR ol ST & ST TUgaena S1R HIgeisiia Tursil § Ueit o fel ol GRefT el € |
Ty, BN H, TeT 1 THIET Uf 31 3 TNGR FRT & ol STt € | R H Feo R Jatesh
IR 9T | it & UNaR i, {o6Te T giH @ Uget Uid o TRER i e, Sgqed e 3 & & &9 §
TIRT I Tl & | SY TS WHIRT SRl T AT Rl TR (i 3R ufq & RedsRT o T 61 gash
A & | o SATTeR g SAeT et S €, R TR URER ot ST ST SgHed Iy U Y
Tl & R €, T SIh! Tt 37X 378 310 Rl A=A 1 33T U |

TEST o ST IR 7 el & T W 9ei % o7 T6% & Uid FeH 5T €, SRk oTgreha ot
ST & STaeh TTgeh [oalTE SURTT 8T THIRT T & | 37eT:, &7 Shi Tl = IR 3R Sereer § w2 9]
T AR dfedi % @ Ht U & Uid AeH fean & | q, 92 % fo s SR UE uwRl %
RO & ST 58T &1 Rt e Tl € | wifosh, g W SHaER AR Sehivr Jol bl Hewd 3o & AR ot
1 AT T &1 TG € : Tgaeig F9rT 7R foRmad W SR RedsR, WefHes &9 & T8 §RT 6 57
T e Wl TR SR 37 ATt Sta a8 WAt SR giF oX I68 o =0 |

Tt gesT Ty tfafEm (1961, 1984 Ta 1986 | Eeiite) g1 fefusfespa &, ufd =1 uRar
a7edt ot ToreTe o1 FRATHT X o ToT8 ATehs AT 3Tl ohi P HIAT bl TR e & | 3o WTHISTh
TRt & ga qow, 3T ToreT 3T STeheT TSR 3TaaR S€l TR Rt | el Rl fefd § € | SesT ol |
TR forae T 81 ST & 915 31R Toame =1 &1 ST o &g off &l STt & |
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46.  Dowry system is prevalent mostly in
(A)  Patriarchal Society
(B)  Matriarchal Society
(C)  Stateless Society

(D)  Egalitarian Society

47.  Which one of the following is most common in case of dowry payment ?
(A)  Dowry payment is normally made by the bride’s family to groom.
(B)  Dowry payment is normally made to the bride by groom’s family.
(C)  Dowry payment is normally made by maternal uncle.

(D)  Dowry payment is normally made by maternal aunt.

48.  The custom of dowry contributes to
(A) Genocide
(B)  Foeticide
(C)  Female infanticide and neglect of daughter’s health
(D) Matricide

49. Which of the following undermine(s) the worth of women ?
(A) Inheritance
(B)  Kinship based on patrilineal descent
(C) Male control over land

(D)  All of the above

50.  The amount of wealth given as dowry was indication of
(A)  the bride status only.
(B)  the esteem of the husband’s kin only.
(C)  the status of the bride’s parents only.

(D)  the bride’s status and the esteem of the husband’s kin.
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46.  TEST W1 SR € T THH TEleId & -
(A)  TUgEdeTs TSt
(B)  WIGEITCHE THTST
(C) A e g9
(D) HHATER! GHTST

47.  T&STSH % O H Faitsh ST (=ifhd § ¥ A AT ?
(A) AT &7 FoaY % URER FRT 38 i [T ST e |
(B) AT o8 o UNER §RT FoaY % 58T [ ST € |
(C)  THIICAT S&<T HIHT §RT a1 ST € |
(D) I S&T HIHT o FRT far Sran g |

48.  T&ST v foheh Uid AR A € 2

(A) <A HER
(B)  HoTEM
(C) o 1979 BT 37K St o T hi Ut
(D) wgET

49.  Tort bt da iR § 9 e wer ¥ ?
(A)  ToRmE
(B)  TUceieia SiTSil OR ST R¥agR
(C) o T g& T Fg=m
(D) SRt @t

50.  T&STh &Y H 3T TS GHIET hi T O ©
(A) T Taay ot QTS A 7 |
(B) &% uid & REAeR &t Wiawl &7 |
(C) T Farere o ANTTerh! sl HTHTSTR et & |
(D)  TaTY T WIS AT 3R 9 & KRR Bl HieT & |
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